Leuze

= HIoJE A E
HEEE MM

2: 50136573
LCS-2M12B-NO6PNO-M12

oo
ol

HH
Bl
rE

g
- 7% ol
- X% =8

- ®7| i

- I EE

- ZE 9 EA|
- HE 71YE
Sl

S TRE

nc
4>
%

b

0

a2

F ko[ 7t

= EE c €

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com e ¥y el BER
The Sensor People In der Braike 1, 73277 Owen F3k: +49 7021 573-0 « WA +49 7021 573-199  kor « 2025-07-19 1/6



oX

L

r=

7|= H|0|E

7|2 o]
EES
A91% Azl s,

HSE AQX AHg
H7| ojo|g

B3 3|2

olr
o ra |
T
o3 m
oY —
S
®

ot
Hu
A
Bty

|TH(%/S,)
. ZTH(%/5S,)

i

o rE rlo = A ok oXx
2 pE 3t

Y oo du mp
o oX o
e}

Ju

53

CIXE 2908 &8

ot
M
A

r op | >
e du 4o

ot
=

>

oft o
o
m
Ju

> 1> mo
d0 Ho
ox ox
o k>
oA

7|= HloH
cixtel

%@ x Zol)
LA} 37|
A A
s9u =
249 Y=
B T2

=3

ol

hl

H

The Sensor People

M« E2 H3: 50136573 « LCS-2M12B-NO6PNO-M12

LCS-2
1..6mm
4.9 mm

rmdp

Ju g
0F Hr
fot

)

10 .. 30V, DC
0..10 %

10 mA

10 %

5%

200 mA

1745

CIRE 29|

DC

ox
T

100 Hz

A

-
N

=

_|

< oo A

o 0% I¥ fo
N> op
15 fot mp
m

o <
fuorE o S

oo
on

> b

HFEA

12 mm x 68 mm
M12 x 1 mm
Lizts| IRl 28
o R

[= ]
ECEER-C
BalrE| 22

349

A 4

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

x5 U EA

Leuze

HA| 2 LED

LED 7i= 1 7=

at2tolE MIE CHE - H XA

ZXE J|s 4E M3

2218 72| =8 7ts of

27 olo|g

S M FE 2k -25..70°C

s

Bs 58 IP 67

Bs 58 Il

2 7d IEC 60947-5-2

B A5

OLM| E 0.75

Or3 & £X| 0.1..0.25

dIAS 0.85

Lo} 0.7 .. 0.85

opzl 04

3Le 0.1

HEROIE 0.15

Ax g 0.1

O EL{O|E 0.15

O ZA| =X| 0.15 .. 0.35

Me 0.05

ol EhS 0.85

oEHIeE 0.93

=22 R22 U 502(UH]|) 0.35

L74o| 0.15..03

el 0.2 .. 0.55

ECLE 0.98

nks 0.15 .. 0.9

=M, R 0.6 ..0.85

=X, A= 0.1..04

EbAL 0

37| 0

2| 05

HISHE 0.05

HWapnl x| 0.25 .. 0.55

28 0.2

Ltz 02..03

715 &g 30| 0.25

30| 0.1

Zzlojn = 03

EZ|0|AHE X| 0.15 .. 0.5

x| 0.1..03

PTFE 0.1

HEqE 0.2

23 0.35

oay 0.15 ..0.3

2 1

AHE 27 0.25

A 0.15
info@leuze.com « www.leuze.com e HE Hel ER
M3} +49 7021 573-0 « A +49 7021 573-199  kor « 2025-07-19 2/6



71% ©jo|g Leuze

HS % 85365019
ECLASS 5.1.4 27270102
ECLASS 8.0 27270102
ECLASS 9.0 27270102
ECLASS 10.0 27270102
ECLASS 11.0 27270102
ECLASS 12.0 27274201
ECLASS 13.0 27274201
ECLASS 14.0 27274201
ECLASS 15.0 27274201
ETIM 5.0 EC002715
ETIM 6.0 EC002715
ETIM 7.0 EC002715
ETIM 8.0 EC002715
ETIM 9.0 EC002715
ETIM 10.0 EC002715
X+ =H

HH K2 Z = (mm)

M12x1 geH
A 2 1 ED
ZHMOH
@
LI [ ]
| n
N -
) e
m
[ [ 1
o
A=
Y
\ c

= B

M12x1
o]
=
%)

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com Jled g Hel R

The Sensor People In der Braike 1, 73277 Owen T3 +49 7021 573-0 « T2 +49 7021 573-199  kor » 2025-07-19 3/6



HH2Zd MM . B2 H3: 50136573 « LCS-2M12B-NO6PNO-M12

X | 74

M7 AE

HE 1

IIs He 35
=8 Mz

HZER 35 e A4 E

LEAL 27 M12

] Male

M= 3%

i B 44

AAg A-ZYE

H H XH 2}o]of M4k

1 +10..30V DC ZAH

2 n.c. -

3 GND A

4 out =4

/|4 o BK

9 EA

LED ClAZa 0|

[,

re

E~wS|
= o

-
o3
oln

HE 7IME

HE YA LCS-ABBBC-DDDEFF-GHHHIJJJ KK

LCS s e
LCS: BHE8EH MA
A NEES

il

1o AlE|= 1 e
PIPNE ESRin k=1
BBB C|xpQl

M12: M12 x 1 =LEARZE QL Al2|=
M18: M18 x 1 F=LEALZE Qe Al2|=
M30: M30 x 1.5 =LEARTE Qs Al2[=
Q40: A2t Al2|=, Z 0] 40mm

Q54: APzt Al2|=, Z0| 54mm

il

Leuze electronic GmbH + Co. KG

The SenSOI‘ People In der Braike 1, 73277 Owen

Leuze

info@leuze.com « www.leuze.com
M3} +49 7021 573-0 « WA: +49 7021 573-199

71ex B el 2R

kor « 2025-07-19

4/6



HH2Zd MM . B2 H3: 50136573 « LCS-2M12B-NO6PNO-M12

. Leuze

ba g
fad
3
z
el

DDD =3

FO3: et ol AZH Z|CH He| 3.0mm / O M X|4]
FO4: et ol AZH Z|CH He| 4.0mm / O M X|4]
FO5: LEtE ol AZH Z|C #Q| 5.0mm / OHY XA
Fo6: LEtE Ol AZH |0 #Q 6.0mm / OHY HX[A
FO8: LEtX ol AZH Z|CH Q| 8.0mm / OHY HX|A
F10: LEEE Ol AZH Z|CH 82| 10.0mm / Of 2} AX[4]
F15: LEEE ol AZH Z|CH 82| 15.0mm / Of ) AX[4]
F20: LEtE ol AZH Z|CH 2| 20.0mm / Of Q) AX[4]
NO6: LR ol AZH X|CH HQ 6.0mm / HIOj HX|A]
NO8: LEHE ol AZH X|CH HQ| 8.0mm / HIOH HX|A]
N15: LR ol AZH X|CH Q| 15.0mm / H|OH Q) AX[4]
N15: LR ol AZH X|CH Q| 15.0mm / H|OH Q) AX[4]
N25: LR ol AZH X|CH Q| 25.0mm / H|OH Q) AX[4]
N30: e Ol AZH Z|Cf # 2| 30.0mm / H|OH Y M X|4]

E EH 7|8
B: Al H ™ L AA| 7HE BH
N: NPN
P: PNP

FF A°|XI °$i
NC: AI—)\| ul_/‘\_H 7{-17(-1
NO: &A| 7l EE.*
NP: Z212fd 75

G A Aol g
K: 70| =
S At gl2: Alol5 giS

HHH #Alo|E Zo|

020: 20| 2,000mm
003: Z0| 300mm

s At gle: #Aols gl

1 #Hol= =
P: PUR
T. PTFE
V: PVC

1)) I aF

M08: M8 A& 7 UE, 38

M12: M12 98 HUE, 4774 H)
KK =71 F|

L: 10-Link QIE{H O] A

T: E|X|Ql

aie At @12 7t HH| 8

>
o
fjo
H
ot
ot
ol

E=7F Ot LIEh

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com e ¥y el BER
The Sensor People In der Braike 1, 73277 Owen T3 +49 7021 573-0 « T2 +49 7021 573-199  kor » 2025-07-19 5/6



o
[gal
ol
ol
o2t
r=
x
]

= H3: 50136573 « LCS-2M12B-NO6PNO-M12

47|s 4 A0l
A4 7| - 94 AO|=5
ES s HA 5 Y
50130654 KD U-M12-4A-P1- Az Aol A 1 A AHYE, M12, HAD, & A-ZEE 4 T
020 Y 7 E, LED: OfH 2
HZ 2. g e B
AHH E: ofL e
A 0l& Z0J: 2,000 mm
CJf XY E: PUR
50130657 KD U-M12-4A-P1- Az Aol A 1 A AHYE, M12, HAD, & A-FEE 4 T
050 e A4 E, LED: OfL| 8
Z 2. g e ERE
AHH E: ofL
7|0]& Z0|: 5000 mm
S8 T2 PUR
AL
O™ 7= - 7|E}
B2 s Wy Rl a3
50111499 MC 012K Yz oja g, L5 12 mm
1Y EE nd: 2ME =
OF2E, A|AE = E2 012802
O, X & 289 7ts
1Y RE 35 18y
M= E2taE

b HSEE 2= HMME FFO 52 ZO0|H & MOIENM E5 MBAR HolX|2| Ch22E BE HISHHUAIR.

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com e ¥y el BER
The Sensor People In der Braike 1, 73277 Owen T3 +49 7021 573-0 « T2 +49 7021 573-199  kor » 2025-07-19 6/6



